
Exercice 1

A =
0,15 × 10−10

× 0,54 × 10−1

12 ×

(

108
)2 B =

600 × 10−7
× 140 × 109

3 000 ×

(

10−2
)2

Exercice 2

A =
6 × 105

× 400 × 101

40 ×

(

10−6
)3 B =

27 × 10−7
× 8 × 10−5

0,72 ×

(

108
)2

Exercice 3

A =
28 × 10−9

× 72 × 10−8

28 ×

(

104
)2 B =

0,2 × 10−3
× 16 × 10−10

4 ×

(

10−7
)3

Exercice 4

A =
700 × 10−6

× 3,6 × 102

12,6 ×

(

106
)4 B =

7 × 10−10
× 480 × 10−6

0,42 ×

(

10−4
)3

Exercice 5

A =
1 400 × 10−5

× 0,18 × 10−7

1,05 ×

(

10−8
)4 B =

0,32 × 108
× 150 × 10−10

80 ×

(

102
)3



Corrigé de l’exercice 1

A =
0,15 × 10−10

× 0,54 × 10−1

12 ×

(

108
)2

A =
0,15 × 0,54

12
×

10−10+(−1)

108×2

A = 0,006 75 × 10
−11−16

A = 6,75 × 10
−3

× 10
−27

A = 6,75 × 10
−30

B =
600 × 10−7

× 140 × 109

3 000 ×

(

10−2
)2

B =
600 × 140

3 000
×

10−7+9

10−2×2

B = 28 × 10
2−(−4)

B = 2,8 × 10
1
× 10

6

B = 2,8 × 10
7

Corrigé de l’exercice 2

A =
6 × 105

× 400 × 101

40 ×

(

10−6
)3

A =
6 × 400

40
×

105+1

10−6×3

A = 60 × 10
6−(−18)

A = 6 × 10
1
× 10

24

A = 6 × 10
25

B =
27 × 10−7

× 8 × 10−5

0,72 ×

(

108
)2

B =
27 × 8

0,72
×

10−7+(−5)

108×2

B = 300 × 10
−12−16

B = 3 × 10
2
× 10

−28

B = 3 × 10
−26

Corrigé de l’exercice 3

A =
28 × 10−9

× 72 × 10−8

28 ×

(

104
)2

A =
28 × 72

28
×

10−9+(−8)

104×2

A = 72 × 10
−17−8

A = 7,2 × 10
1
× 10

−25

A = 7,2 × 10
−24

B =
0,2 × 10−3

× 16 × 10−10

4 ×

(

10−7
)3

B =
0,2 × 16

4
×

10−3+(−10)

10−7×3

B = 0,8 × 10
−13−(−21)

B = 8 × 10
−1

× 10
8

B = 8 × 10
7

Corrigé de l’exercice 4



A =
700 × 10−6

× 3,6 × 102

12,6 ×

(

106
)4

A =
700 × 3,6

12,6
×

10−6+2

106×4

A = 200 × 10
−4−24

A = 2 × 10
2
× 10

−28

A = 2 × 10
−26

B =
7 × 10−10

× 480 × 10−6

0,42 ×

(

10−4
)3

B =
7 × 480

0,42
×

10−10+(−6)

10−4×3

B = 8 000 × 10
−16−(−12)

B = 8 × 10
3
× 10

−4

B = 8 × 10
−1

Corrigé de l’exercice 5

A =
1 400 × 10−5

× 0,18 × 10−7

1,05 ×

(

10−8
)4

A =
1 400 × 0,18

1,05
×

10−5+(−7)

10−8×4

A = 240 × 10
−12−(−32)

A = 2,4 × 10
2
× 10

20

A = 2,4 × 10
22

B =
0,32 × 108

× 150 × 10−10

80 ×

(

102
)3

B =
0,32 × 150

80
×

108+(−10)

102×3

B = 0,6 × 10
−2−6

B = 6 × 10
−1

× 10
−8

B = 6 × 10
−9


